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5.
The University of Calgary
Department of Chemical & Petroleum Engineering
ENCH 501: Transport Processes Quiz #7 November 25, 2003

Time Allowed: 45 mins. Name:

A liquid (density = 930 kg/m®) flows by gravity through a tube attached to the bottom of a large tank,
as shown in the sketch below. The volume rate of the liquid out of the tube is measured as 0.048
m%hour. Neglecting entrance effects (i.e. assuming the flow is fully developed within the tube),

(a) estimate the viscosity (i) for the fluid. == l

(b) Estimate the gauge pressure at point A (inlet of the tube). __‘,MN___:,_:.'___(Q ovarHew
Hint: Use Bemoulli equation with frictional losses allowed for.
Also assume that the flow in the tube is laminar.

Check this assumption. Jon
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